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The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states
and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-') are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones -

Distributed High Tacome Middle Low

(in lakhs) Income Income

MP. |65 15% - 50%
Bihar 3.4 12% 32% -
U.P. 2.5 8% 13% -
Haryana|5.2 - 25% -
Punjab |- 21% 22% -
Assam ||4.2 - 9% 78%
Kerala |47 15% 60%

fafafaa afte § @aae @im & siqrid ard fivs Ioal & giesd B o e (@ 1) faaur g
ST YR B o al B i 7d A0l @= e/ om) § ulasid faazor axifa i g | $a faakd
TIETSd Bl I 987130 ARG © | el & 3o dH (- & &0 § [ftd) gu & o] sragedriaR
TUHET SRAT SO SOfEd § | et H Wed Sids! & SMYUR UR WY P IR i :

Hiarsd Bl &1 AsY-aR faaxul
aaiteﬂ - S @1 g A0 F giEEa BiFl o1 faaR (%)
R “ﬁus 5.'
=
@ 3 A gy | Fgem

T 6.5 15% E 50%
faerR |34 12% 32% i
U |25 8% 13% L
gia|s.2 . 25% I
EEICH 21% 22% i
AT [4.2 N 9% 78%
HIa 4.7 15% i 60%
Total distribution of Mobile phones in M.P. is % less than that of in Assam and Punjab together.

1.15.58

2.12.98

3.18.42

4.17.23

(Option 1 [40501]) 1
(Option 2 [40502]) 2
(Option 3 [40503]) 3
(Option 4 [40504]) 4

.. T OEISd BiFl & P [GaRUl 39H g Uud BI e gu faorur 9 fbd= ui=a $9 3 2

.15.58
.12.98
.18.42

4.17.23
(Option 1 [40501]) 1
(Option 2 [40502]) 2
(Option 3 [40503]) 3
(Option 4 [40504]) 4
Answer Given by Candidate : 3

Sl. No.102
QBID:33201002

O S R
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The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states
and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-') are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones -

Distributed High Tacome Middle Low

(in lakhs) Income Income

MP. |65 15% = 50%
Bihar 3.4 12% 32% -
U.P. 2.5 8% 13% -
Haryana|5.2 - 25% -
Punjab |- 21% 22% -
Assam |4.2 - 9% 78%
Kerala ||4.7 15% 60%

fafafaa afte § @aae @im & siqrid ard fivs Ioal & giesd B o e (@ 1) faaur g
ST YR B o al B i 7d A0l @= e/ om) § ulasid faazor axifa i g | $a faakd
HiaTSd Bl B WA 30 1@ & | A1l § $© 7H (- & U § [Afga) g § o] sauddrgaR
TUHET SRAT SO SOfEd § | et H Wed Sids! & SMYUR UR WY P IR i :

Hiasd Bl 1 Iod-aR fdavul
daRe S @1 (9 40l § Aesa Bl o faavor (o
HraTgd Bt )
R v b
T
@ 3= AT gg g | Fgam
T (6.5 15% = 50%
faerR |34 12% 32% i
3.0 2:5 8% 13% -
gharn|s .2 . 250
Uod |- 21% 22% 2
g 4.2 - Q% 78%
B 4.7 15% i 60%

What is the ratio of distribution of Mobile Phones in Low income people of Bihar to the Middle income
people of Kerala ?

.25:18

.19:12

. 18:25

. 1904:1175
(Option 1 [40505]) 1
(Option 2 [40506]) 2
(Option 3 [40507]) 3
(Option 4 [40508]) 4

f9gR & 9 om & aafadal & faafva diarsd BiFl 1 &d & 7 310 & Afaqyl § [9dkd Jiesd BiFl &
1Y D1 UM fba1g 2

T

oS

;2518
L19:12

. 18:25

. 1904:1175
(Option 1 [40505]) 1
(Option 2 [40506]) 2

T S

S

(Option 3 [40507]) 3
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(Option 4 [40508]) 4
Answer Given by Candidate : 2

Sl. No.103
QBID:33201003 o ) ' ) '
The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states

and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-') are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile vwith

State Phones -

Distributed Hiiih Tasoe Middle Low

(in lakhs) Income Income

M.P. 6.5 15% = 50%
Bihar (3.4 12% 32% -
UP. 2.5 8% 13% I
Haryana||5.2 - 25% i
Punjab |- 21% 22% =
Assam [|4.2 = 9% 78%
Kerala ||4.7 15% 60%

fafafaa aifte § @aae @im & siqrid ad s Iodl & diesd Bl o 98 (@ §) faavor g
ST YRA B oa D1 oA 14 A0raT (Fwas e sm) 3 viawr faavor axifar @ g | o faakd
TIaTEa B 31 BT 30 TG § | AT § T8 AF (- & &9 3§ [fRd) T« & oFa! saasdaR
U] AT SO SO § | AT 8 Wed SHids! & YR U WY P IR i :

Hidsd Bl &1 Ae9-aR fdavul
daRe S @1 (9 40l § AEsa Bl o A (%)
HEEd Bl
g 1 ¥ I AT g Ay | Fgam
@rE#)
T (6.5 15% E 50%
ferR 3.4 12% 32% i
SU |25 2% 13% I
giamm|s.2 s 250
LEICEE 21% 22% B
g [4.2 i 9% 78%
XA 4.7 15% i 60%

What is the difference between the number of Mobile phones distributed among High income people of UP,
MP and Kerala together and Middle income people of Haryana, Punjab and Kerala together ?

. 144800
. 136500
. 140900
. 144200
(Option 1 [40509]) 1
(Option 2 [40510]) 2
(Option 3 [40511]) 3
(Option 4 [40512]) 4

IR Yo, Hed Yo d B § 3o SHFar dfaadl & faaikd Aiersd BiFl &1 3 S8 3R giRa,
Ul @ 3 § 37 319 ardl oafaadl | [GaRd Aiasd Bl &1 $d S0l & i [ha-l S s 2

. 144800
. 136500
. 140900
4. 144200

(Option 1 [40509]) 1

L

FoS

L S
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(Option 2 [40510]) 2
(Option 3 [40511]) 3
(Option 4 [40512]) 4

10:42
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Answer Given by Candidate : 4

Sl. No.104
QBID:33201004

The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states
and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-') are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones -

Distributed High Tacomes Middle Low

(in lakhs) Income Income

MP. 65 15% - 50%
Bihar |3.4 12% 32% -
U.P. 2.5 8% 13% i
Haryana||5.2 - 23% i
Punjab |- 21% 22% -
Assam 4.2 - 9% 78%
Kerala ||4.7 15% 60%

frafarad diferer § oage

Hidisd HiHl &1 A9-aR fdarul

' DI D Sfarid Frd i

Il F Higrsd Wi o1 e (@ H) fdarur g
SP1 YR B o al 31 i 9d AT Smme/fg o) § ufoxid faazo exifa mn § | g faaka
TIET3a B B AT 30 TG § | AT d T8 9F (- & &9 3§ [fRd) T« & oFa! SaasdaR
U] GRAT SO SO § | AT 8 Wed SHids! & YR U WY P IR Gifo :

FARE. | ey ot s Aorel & e Bt o1 Fieen o)
?%%T I 3G am g | FEem
T 6.5 15% = 50%
fSER [34 12% 32% -
[U. |25 8% 13% i
gieammn|s.2 s 25% B
LEIEHE 21% 22% -
g 42 - 9% 78%
DX 4.7 15% B 60%

In Haryana state, the ratio of distribution (%) of Mobile phones among High income people to the Low
income people is 2:3, then the distribution of Mobile Phones among High income people in the same state is

more than that of among Middle income people.

O S S

. 26000
. 14000
. 21000
. 24000

(Option 1 [40513]) 1
(Option 2 [40514]) 2
(Option 3 [40515]) 3
(Option 4 [40516]) 4
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sRamn 39 1 3= 31 T safdad @ e 3 ard cafaaa | faaRd (%) FiEga Wil BT S 2:3 7,
I 341 o0 § 3= 31T ard safaqdl | [qaikd BiF1 &1 1 981 & J99 310 ard odigad| § fadid ®iFi
Pt T T fat s g 2

1. 26000

2. 14000

3.21000

4. 24000
(Option 1 [40513]) 1
(Option 2 [40514]) 2
(Option 3 [40515]) 3
(Option 4 [40516]) 4
Answer Given by Candidate : 3

Sl. No.105
QBID:33201005
The following table shows the distribution of number (in Lakhs) of Mobile Phones in seven different states

and percentage distribution of these Phones among three different categories of people of India (High/ Middle/
Low income) under the CONNECT Scheme. Total Mobile Phones distributed are 30 Lakhs. Some values
(marked as '-') are missing in the table which you are expected to calculate if required. Based on the data in the
table, answer the question.

State -wise distribution of Mobile Phones

Number of | Distribution (%) of Mobile Phones among people
Mobile with

State Phones -

Distributed High Ticome Middle Low

(in lakhs) Income Income

MP. |65 15% - 50%
Bihar (3.4 12% 32% -
U.P. 2.5 8% 13% [
Haryana|5.2 - 25% -
Punjab |- 21% 22% -
Assam |4.2 - 9% 78%
Kerala |4.7 15% 60%

fafafaa afte § @aae @im & siqrid ard s Ieal & giasd B o 9@ (@ 1) faaur g
ST YR B o al B i g A0l @= e/ om) 3 wlasid faazor axifa i g | $a faakd
TIaTSd BIFl I 97130 ARG © | ATl 8 8 9F (- & U § [fRd) 9 & oHo! STaagedrgaR
U] HRAT TG SO © | AT H Had Mids] & SMYUR IR U4 BT 3R Giofu :

HISTE BIF] BT A5U-gR fGarom
daRe S @1 g A0 F grEEa BiFl o1 fadR (%)
HiTga BHI
| I 3 qa e | e
(@ )
T 6.5 15% E 50%
foBR |34 12% 32% -
3. 2.5 8% 13% -
gIRATN|5.2 . 25%
CEICHS 21% 22% -
HEH 4.2 - 9% 78%
BXd 4.7 15% ’ 60%
Total distribution of Mobile Phones in Low income people of all the states together excluding Haryana is
approximately % of the total distribution in all the states together ?
1.63.7
2.45.6
3.549
4.50.7

(Option 1 [40517]) 1

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d
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(Option 2 [40518]) 2
(Option 3 [40519]) 3
(Option 4 [40520]) 4

BRI BlsHR A9 FHI A1 DI IR a8i & 5 31 a1l ofdadl § HiTgd Bl &1 $d fadrul

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d

i T i iR §U P [GaRon &1 i foaH afoRia @ 2

FES

(Opti
(Opti
(Opti
(Opti

1
2.45.6
3

. 63.7

.54.9
. 50.7

on 1[40517]) 1
on 2 [40518]) 2
on 3 [40519]) 3
on 4 [40520]) 4

Answer Given by Candidate : 1

SI. No
QBID:

.106
33201006

Match List I with List II

TASELE-L earnisig LIST II (Meaning)
strategies)
A |Podcasts 1. |The personal websites that contain contents organised like a Journal or diary.
B. [Blogs II. [The dissemination of recorded or live content over the internet.
C. [Wiki I11. |The digital audio or video files containing meaningful content for learning.
e s . |The open. dynamic websites with collaboratively constructed knowledge, information and
D. [Webcasting V. : :
= resources which are freely available on internet.

Choose the correct answer from the options given below:

1
2
2
J

e

. A-IL, B-IV, C-III, D-I
. AL B-I, C-IV, D-II
. A-IV, B-II, C-III, D-I
. AL, B-I, C-IV, D-III

(Option 1 [40521]) 1
(Option 2 [40522]) 2
(Option 3 [40523]) 3
(Option 4 [40524]) 4

il 191 g1 11 ¥ e Sifore

T 1 G-
U

T 11 (3

A [TeoRe 1 [qafdqm dedrge o A Adasd & od 314al SR Bl Hitd Q1o 1eal Sl @ |
B. [&TT 11 |SNTeRad 31aT Golld JHdded Bl 53¢ U TR
C_[fa®t 111 [31eRTH g i Siqavdard fSfercia snfedr suar difsal Bigd

. . [5e¥T R Had ¥U 9 IUds YeaRTAS aid § fdd 1, a1 d GaieH1 arefl
D. [dSepTieT N o, v :

fafaRRad fawedl ¥ S 98! 3R &1 994 Pifo -

. A-IL, B-IV, C-III, D-I
AL B-L, C-IV, D-II
. A-IV, B-II, C-IIL. D-I
. A-II, B-1, C-1V, D-III
(Option 1 [40521]) 1
(Option 2 [40522]) 2
(Option 3 [40523]) 3
(Option 4 [40524]) 4
Answer Given by Candidate : 4

Sl. No.107
QBID:33201007

L R R

=S
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Which of the following are the characteristics of an Ideal Evaluation in teaching-learning process ?

A. Comprehensiveness
B. Validity

C. Reliability

D. Subjectivity

Choose the most appropriate answer from the options given below :

1. B and D Only

2. A.Band C Only

3. A, Cand D Only

4.B and D Only
(Option 1 [40525]) 1
(Option 2 [40526]) 2
(Option 3 [40527]) 3
(Option 4 [40528]) 4

fRreqor T wftean & snesf gegie— ot Fafifad § 3 $H-oF 9@ falwane §

A. 9T
B. 3%l

c. fasgaan
D. fowafagar

A feu aw famedl & § T 3UYH IR AT 9 DI

1. %9a B AR D

2. %A A, B IR C

3. BIAA, C AR D

4. %ad B AR D
(Option 1 [40525]) 1
(Option 2 [40526]) 2
(Option 3 [40527]) 3
(Option 4 [40528]) 4

Answer Given by Candidate : 3

Sl. No.108
QBID:33201008

Which of the following statements are true about 'SWAYAM' ?

A. Swayam is designed to achieve three cardinal principles.

B. Swayam is hosting all the courses, taught in classrooms from IX till Post graduation.
C. Swayam assesses students continuously and grants degrees.

D. It can be accessed by anyone, anytime at any place.

Choose the most appropriate answer from the options given below :

1. A and C Only

2. A, Cand D Only

3.A.Band D Only

4. B and C Only
(Option 1 [40529]) 1
(Option 2 [40530]) 2
(Option 3 [40531]) 3
(Option 4 [40532]) 4

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d 96/123
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W P Hay J FEfafed 8 4 o 4 SU 981§ 2

A. g F vgE Rl o Wi & oy e faaa § |

B. W9UH A13] T4 I WIdD R &1l Ueu oH ara 9y ursasdi & Seifid Hrars |
c. TaoH faenfial &1 wad qeie- dxdl ¢ d fShE e axar g |

D. %I i sfad et oft M ik 99g R s3@ fins R i s |

4 fu 7t faoedl § ¥ Fad IUgad STk BT 99 DT
1. Pad AR C

(Option 1 [40529]) 1
(Option 2 [40530]) 2
(Option 3 [40531]) 3
(Option 4 [40532]) 4
Answer Given by Candidate : 3

Sl. No.109
QBID:33201009

Which of the following is related to Learning - Centred approach of Education ?

1. Imposed

2. Authoritarian

3. Self-controlled

4. Autocratic
(Option 1 [40533]) 1
(Option 2 [40534]) 2
(Option 3 [40535]) 3
(Option 4 [40536]) 4

fFafoRad 3 ¥ o fafmar fRian & st Sisd Surm 3 Jafa g 2

1. SR

2. WP RaTd!

3. W gt

4. f o9
(Option 1 [40533]) 1
(Option 2 [40534]) 2
(Option 3 [40535]) 3
(Option 4 [40536]) 4
Answer Given by Candidate : 3

Sl. No.110
QBID:33201010

Arrange the steps of project method in a sequence.

A. Purpose of the project
B. Providing a situation

C. Execution of the project
D. Planning of the project
E. Recording of the project
F. Evaluation of the project

Choose the correct answer from the options given below :

.A.D.B.C.E.F
.D.B,AE.E.C
.B,A.D.C.E.E
4.C,A.D.E.F.B
(Option 1 [40537]) 1
(Option 2 [40538]) 2

L O
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(Option 3 [40539]) 3
(Option 4 [40540]) 4

gRaieH fafd & Fafifad senl o 98! sigpy 1 ouafyd Pifo :

A. ORI &1 350

B. Rufd yem &=

c. uRaieH srafag

D. URgIeH &1 FaieH

E. URaeT &7 sifiyea (Rarfam)
F. URGISHT &1 Hedich

a1 g ov fOweul # O T8 SR #1934 hIias:

w!‘at—
mp,_:»
:".PU..U
Opw
nmao
'-n'-nm

+F
C
,E
4 C A D E F B
(Option 1 [40537]) 1
(Option 2 [40538]) 2
(Option 3 [40539]) 3

(Option 4 [40540]) 4
Answer Given by Candidate : 2

Sl. No.111
QBID:33201011

In much of social research. the variables used are

1. Manipulable

2. Experimental

3. Non-manipulable

4. Deviational
(Option 1 [40541]) 1
(Option 2 [40542]) 2
(Option 3 [40543]) 3
(Option 4 [40544]) 4

Tga-9R o Wy § Fefifed 3§ 9 R &1 vgad fear S g 2

1. SagieH Oy

2. FATHS

3. IR-SageH gy

4. [dgaTa®
(Option 1 [40541]) 1
(Option 2 [40542]) 2
(Option 3 [40543]) 3

(Option 4 [40544]) 4
Answer Given by Candidate : 2

Sl. No.112
QBID:33201012

The panel study has the issue of

1. Attrition

2. Single survey

3. Different variables

4. Inanimate objects
(Option 1 [40545]) 1
(Option 2 [40546]) 2
(Option 3 [40547]) 3
(Option 4 [40548]) 4

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d 98/123
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U ey 1 FEfiiEd o ¥ SIAa g1 gidi g 2

1. &7 (TEIRH)

2. TSHd HA&ul

3. i =R

4. Foifa axqU
(Option 1 [40545]) 1
(Option 2 [40546]) 2
(Option 3 [40547]) 3
(Option 4 [40548]) 4
Answer Given by Candidate : 3

Sl. No.113
QBID:33201013

If respondents are offered an option of answering a questionnaire, for Example the postal questionnaire
respondents are given an option of answering by Web survey, it is called

1. Optional survey
2. Multiple survey
3. Selective survey
. Mixed mode survey

SN

(Option 1 [40549]) 1
(Option 2 [40550]) 2
(Option 3 [40551]) 3
(Option 4 [40552]) 4

i FTREIAISH I U UYTad! & IR P TS [dded (401 Sl 8, SS1exuny - S1% I uad & 91y 3§
TIUT §RT IR 1 PT f[dHed g1, a9l 58 T Hel odl 8 2

1. IHITP A&

(Option 1 [40549]) 1
(Option 2 [40550]) 2
(Option 3 [40551]) 3

(Option 4 [40552]) 4
Answer Given by Candidate : 2

Sl. No.114
QBID:33201014

Which of the following are the disadvantages of online research ?

A. Online research is expensive.

B. Samples can be small and skewed.

C. There can be an excessive turnover of communication.
D. Technological issues may lead to inconsistencies.

E. Online participants are rigid.

Choose the correct answer from the options given below :

1. A. B, C Only
2.B.C.D Only
3.C.D.E Only
4. A.D. E Only
(Option 1 [40553]) 1
(Option 2 [40554]) 2
(Option 3 [40555]) 3
(Option 4 [40556]) 4

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d 99/123



25/03/2023, 10:42 https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d

Sars My & FEfafEd § T SHd 3@y g 2

A. ST MY HEW R |

B. Wfiexi @y iR avA gl 9&d § |

C. 35H FEINU & Siafiie uREm gl 9o g |

D. Wit gz, srimfaat &1 anf iR s 9@ ¢ |
E. 3{Tams ufauyrit s g g |

A fgr v Aoedl § O TR 3O @1 994 hlTag:

1.$Add A, B, C
2. ®dd B, C.D
3. %94 C,D,E
4. HIAA, D, E

(Option 1 [40553]) 1
(Option 2 [40554]) 2
(Option 3 [40555]) 3
(Option 4 [40556]) 4
Answer Given by Candidate : 2

Sl. No.115
QBID:33201015

Given below are two statements :
Statement I : The qualitative data analysis is governed by the codified prescriptions of quantitative data
analysis.

Statement II : Qualitative data analysis has many approaches, of which the grounded theory is important.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is False but Statement II is true.

(Option 1 [40557]) 1

(Option 2 [40558]) 2

(Option 3 [40559]) 3

(Option 4 [40560]) 4

A o s few aw &

HUF [ : OTaaTRS &a (37) AT H #AARS ga [WEEOT F @Redag ueEl (UEheerE) aRr sifdenfaa
foam e

HUF 11 - JPTEANRS oo AHUT # 3w SUPH §, THH 3uR-fEEa Aecayel €
IWRIT HAT & 3HTelled &, A T 97 Goeul & T T8I 3o & II DIfeis:
LA 13RI T & |

to

.U 13RI gt 3T © |
3.%99 1 9T &, Afhed By I 3 WA & |

4. U 1 30T ¥, b dUT I Tca ¥ |
(Option 1 [40557]) 1
(Option 2 [40558]) 2
(Option 3 [40559]) 3

(Option 4 [40560]) 4
Answer Given by Candidate : 1

Sl. No.116
QBID:33201016
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According to the ancient Indian texts, the ultimate goal of both internal and external communication is

1. Achieving social status
2. Capturing political power
3. Self-realisation
4. Accumulation of wealth
(Option 1 [40561]) 1
(Option 2 [40562]) 2
(Option 3 [40563]) 3
(Option 4 [40564]) 4

TR YR 34l & SR SiaRe SR aTe SIY0 S| &1 IRE 963 R 8 2

. IS U] &1 U ST
. ISHIfG® fed &1 gidamEn
T 2 e

. YF-gHI BT S99

(Option 1 [40561]) 1

(Option 2 [40562]) 2

(Option 3 [40563]) 3

(Option 4 [40564]) 4
Answer Given by Candidate : 1

Sl. No.117
QBID:33201017

According to Chanakya, communication flows from

L

e

. The masses

. The centre of power
. The elitists

. The Military
(Option 1 [40565]) 1
(Option 2 [40566]) 2
(Option 3 [40567]) 3
(Option 4 [40568]) 4

TR P IR TEIY0] FT YIS [had a6 2

L

=

BCEG|
 Yfdd-p=%
. Hfea

4. 947
(Option 1 [40565]) 1
(Option 2 [40566]) 2
(Option 3 [40567]) 3

(Option 4 [40568]) 4
Answer Given by Candidate : 4

Sl. No.118
QBID:33201018

Looking deep into the channels of communication is described as

L

1. Content analysis
2. Audience analysis
3. Control analysis

. Media analysis

LSS

(Option 1 [40569]) 1
(Option 2 [40570]) 2
(Option 3 [40571]) 3
(Option 4 [40572]) 4
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THEINU & H1e0H] &1 7T Sia-9sdid &l [9 =9 J guiH fear smars 2

1. fawgay] fazeiym
2. URS (1STY) gz
3. frgaur faeiwor
4. Hiftsar fazaiyor
(Option 1 [40569]) 1
(Option 2 [40570]) 2
(Option 3 [40571]) 3
(Option 4 [40572]) 4
Answer Given by Candidate : 4

Sl. No.119
QBID:33201019

The humanistic approach to communication posits that

A. Behaviour is innate

B. Behaviour is concocted

C. Behavioural changes originate from the inner self

D. The reward-punishment technique for behavioural change is short-lived.

E. Communicative techniques focus only on paralinguistic messages, for behavioural change

Choose the most appropriate answer from the options given below :

1. A. B, C Only
2.B, C.D Only
3.C.D. E Only
4.A,C,D Only
(Option 1 [40573]) 1
(Option 2 [40574]) 2
(Option 3 [40575]) 3
(Option 4 [40576]) 4

JENU &% SR § AFGE SUNTH F1-a0] a1 § 2

A. JIER IeId gial @ |

B. AER A eIl g |

C. AER-IRTH ART-T I YA T ¢ |

D. FAgRId URadH & o0 TR - US da-id &UIR B g |

E. JEINUAS dP-10, IGeRId 9Rad & (AU $ad G HNTT T 0R 1 Pisd Rl g |

AT feu aw faedl # § Hed 3SUYH IR AT =9I DI

1.$dd A, B, C

2. ®dd B, C.D

3. %94 C,D.E

4. HAd A, C,D
(Option 1 [40573]) 1
(Option 2 [40574]) 2
(Option 3 [40575]) 3
(Option 4 [40576]) 4
Answer Given by Candidate : 3

Sl. No.120
QBID:33201020

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d

102/123



25/03/2023, 10:42 https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d

Given below are two statements :

Statement I : In terms of communication, the dominant interests of a larger culture will form the image of
minority audiences.

Statement IT : The medium of television is often considered as a new religion.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

(Option 1 [40577]) 1
(Option 2 [40578]) 2
(Option 3 [40579]) 3
(Option 4 [40580]) 4

A g Fuw Rw aw &
PHYF 1 - GFUYT & Tedl A T goak TEhia & Uddl fod oUGEds aed Y Sfd & T i |
HU 11 - T & ATH B UIG: Th ¢ 9 & §7 & A Al & |
IWRITh HYAT & HTeirh A, A9 fGU 77 Fhedl # § a8 IWYH 3a H 999 HIiaAs:
Loy I AR I gt a8 ¥

ro

.HYg 1 3R 1 A Tea E
3.%U9 1 99 &, ftha U= I 7T d § |

4. YU 1 Teld &, AfhT HUST 11 T 8 |
(Option 1 [40577]) 1
(Option 2 [40578]) 2
(Option 3 [40579]) 3

(Option 4 [40580]) 4
Answer Given by Candidate : 3

Sl. No.121
QBID:33201021

An amount deposited at 5% simple interest becomes Rs. 1512 in 4 years. How much the same amount will become in 25 years at 10%

simple interest per annum ?

.2 1.475
SEL8T8
.2 1,675
4.21.875

(Option 1 [40581]) 1
(Option 2 [40582]) 2
(Option 3 [40583]) 3
(Option 4 [40584]) 4

Tl 59% JIURUT TS BT X T TH B TS IS o AR 4 TS H 1512 T 8 91dl 8. T 10% TP RN ST B &3 F dat YRR
zé aut § fa-t gt o 2

W ko

-%0.- 1,475

. 1575

.%. 1.675
4,%.1.875

(Option 1 [40581]) 1

(Option 2 [40582]) 2

(Option 3 [40583]) 3

O R
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(Option 4 [40584]) 4
Answer Given by Candidate : 4

Sl. No.122
QBID:33201022

What number would replace question mark (?) in the series given below ?
1,4,3,5,6,9,13,20,31,?

D=
[ N
-1 = O

L
E=Y

4. 45
(Option 1 [40585]) 1
(Option 2 [40586]) 2
(Option 3 [40587]) 3
(Option 4 [40588]) 4

9 i 8 gEen J o I WRe vyaEs 9 () ®1 wfaraftd sl 2

1.4,3,5,6,9,13,20,31,7

Wk =
[N
-1 = O

4

4.45
(Option 1 [40585]) 1
(Option 2 [40586]) 2
(Option 3 [40587]) 3

(Option 4 [40588]) 4
Answer Given by Candidate : 4

Sl. No.123
QBID:33201023

The average weight of six members of a family is 30 kg. If the head of the family is not considered, the
average weight of the rest of the family members is 5 kg less than the earlier average. Find the weight of the

head of the family.

.55ke
53 kg
.60 kg

4.57kg
(Option 1 [40589]) 1
(Option 2 [40590]) 2
(Option 3 [40591]) 3
(Option 4 [40592]) 4

BT IeH] ardl fard! URaR &1 319 ao 30 [ & | afg aRar & @1 A g1 bl ST &, af
IRAR & Y T B SHd doi- Jd & SAd 3 5 631 Y 81 9i1dl ¢ | a1 IRaR & GRaar &1 aei 31
BT |

.55 faun
.53 T
. 60 fopa

4. 57 B
(Option 1 [40589]) 1
(Option 2 [40590]) 2
(Option 3 [40591]) 3

(Option 4 [40592]) 4
Answer Given by Candidate : 1

Sl. No.124
QBID:33201024

bt

(%]

Lo

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d 104/123



25/03/2023, 10:42 https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d

In a certain code language "Black' is coded as '1131122". How "White' will be coded in that language ?

1. 5209832

2. 2389025

3.5209823

4. 5208923
(Option 1 [40593]) 1
(Option 2 [40594]) 2
(Option 3 [40595]) 3
(Option 4 [40596]) 4

%%afg?mmﬁ@qaq@a?ﬁ'muzr%wﬁwﬁmw% | T I LT H Secg U 315 <1 § B hY Peas

. 5209832

. 2389025

. 5209823

. 5208923

(Option 1 [40593]) 1
(Option 2 [40594]) 2
(Option 3 [40595]) 3
(Option 4 [40596]) 4
Answer Given by Candidate : 2

Sl. No.125
QBID:33201025

If the numerator and denominator of a fraction are increased by 7. then fraction becomes 2/3. Find the original
fraction.

o —

RSN

.4/5
. 3/5
.3/8
+5/3
(Option 1 [40597]) 1
(Option 2 [40598]) 2
(Option 3 [40599]) 3
(Option 4 [40600]) 4

e foreft ot > ofy iR R 7 1 9f S ol &, ff o S @1l 1 9 ot et NG |

L S

=

.4/5
.3/5
.3/8

4.5/3
(Option 1 [40597]) 1
(Option 2 [40598]) 2
(Option 3 [40599]) 3
(Option 4 [40600]) 4
Answer Given by Candidate : 2

Sl. No.126
QBID:33201026

"You really must try out to be selected in the basketball team because my uncle who teaches philosophy says
that you have a real potential". Identify the logical fallacy committed in the above argument.

O S R

. Hasty Generalisation

. Appeal to Inappropriate authority
. Ad hominem

. Begging the question

L e

o+

(Option 1 [40601]) 1
(Option 2 [40602]) 2
(Option 3 [40603]) 3
(Option 4 [40604]) 4
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" 3TTh] SRBEd DI ¢1H H IaHd 81 & [T UM 3a<g BT I1eU Faifd GR-RRd UgH ard 8
1 &1 HE1 § [ HIH TP TRATaP YT § |" SUHa gfad H dlichd &Iy &1 Iga ot |

1. AHfTAR] GHFDHRI
2. 3UgE WIUDR 38
3. ogfa faR & foru (usEiiaam)
4. TN SN
(Option 1 [40601]) 1
(Option 2 [40602]) 2
(Option 3 [40603]) 3

(Option 4 [40604]) 4
Answer Given by Candidate : 2

Sl. No.127
QBID:33201027

Which of the following statements are so related that if one of them is true the other must be false and vice-
versa ?

A. All human beings are mortal.

B. Some human beings are mortal.

C. Some human beings are not mortal.
D. No human beings are mortal.

Choose the most appropriate answer from the options given below :

.Aand C Only
.Band C Only
.Cand D Only
.Aand D Only

(Option 1 [40605]) 1
(Option 2 [40606]) 2
(Option 3 [40607]) 3
(Option 4 [40608]) 4

FrafaRad & 9 211 3 By 39 die 3 9aied © (o afe 378 3 e 9 3id1 8. Al g1 31a%ad &9 9
3 U4 59 faudid g1 916y 2

AT IREAT |

B. PO T{U TR EAT |

C. T IR TR |
D. B1g M T AR TS ST g |

AT feu arw faedl & § Had SUYH IR AT =9 DI

1. Fad A MR C
2. $aAB AR C
3.%ad C AR D
4. FTAAARD
(Option 1 [40605]) 1
(Option 2 [40606]) 2
(Option 3 [40607]) 3

(Option 4 [40608]) 4
Answer Given by Candidate : 2

Lo b

ES

Sl. No.128
QBID:33201028

Which of the following statements is logically equivalent to the statement - "No plants are murderers” ?

1. No plants are non-murderers.

2. No murderers are plants.

3. All non-murderers are non-plants.

4. Some non-murderers are not non-plants.

(Option 1 [40609]) 1
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(Option 2 [40610]) 2
(Option 3 [40611]) 3
(Option 4 [40612]) 4

FaffEd § ¥ B W $y= aifd® 9 3 50 $Y & IIgE ¢ - P18 Ul UIgY SART Tel Siar g

1. @5 i UGY IR-EART 81 8IT © |
2. %15 Y sARI UIGU eI gl & |
3. 9 RBAR TRUCU BT |
4. T8 NREAR R-UGU TR AT |

(Option 1 [40609]) 1
(Option 2 [40610]) 2
(Option 3 [40611]) 3
(Option 4 [40612]) 4
Answer Given by Candidate : 2

Sl. No.129
QBID:33201029

"T just cannot believe it! Mr. Suresh cannot be guilty of murder since there is no way Mr. Suresh could kill
someone". Which fallacy is committed in the above argument ?

. Slippery slope

. Begging the Question
. Ad hominem

. Equivocation

Lo S

FEN

(Option 1 [40613]) 1
(Option 2 [40614]) 2
(Option 3 [40615]) 3
(Option 4 [40616]) 4

"8 9 IR (T fayre 7ol o= Fod | ot X 51 1 Il T8l 81 Feba aifch g bt o Rufar o
sl 1 IR 781 9od1 I" SUYa giaa § TH-qNE 2

1. Taagad gam
2. ST &Y
3. ogfea faRiy & ferg
4. PG
(Option 1 [40613]) 1
(Option 2 [40614]) 2
(Option 3 [40615]) 3

(Option 4 [40616]) 4
Answer Given by Candidate : 2

Sl. No.130
QBID:33201030

According to classical Indian school of logic. knowledge resulting from prior knowledge of invariable concomitance between two objects
1s called ?

1. Arthapatti

2. Anumana

3. Upamana
Anuplabdhi
(Option 1 [40617]) 1
(Option 2 [40618]) 2
(Option 3 [40619]) 3
(Option 4 [40620]) 4

YR AR b T & SHTIR 3l gl & 7 SURI-1g GeMiadl & Jd FH 8 Icd= I P &1 o1 Sl § 2

. Spufafy

SIAH
SUHA

EERRIT

Fop

o
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(Option 1 [40617]) 1
(Option 2 [40618]) 2
(Option 3 [40619]) 3
(Option 4 [40620]) 4
Answer Given by Candidate : 3

Sl. No.131
QBID:33201031

A computer is used to store photographs and videos. The average size of each photograph is 8 MB and the
average size of each video is 400 MB. How much memory (in gigabytes) is needed to store 800 photographs
and 80 videos ? (1 KB = 1024 Bytes)

3.7

.4.7

34.
4.37.50

(Option 1 [40621]) 1

(Option 2 [40622]) 2

(Option 3 [40623]) 3
(Option 4 [40624]) 4

TS Hex $ 07 g difsal USRI & fiw yai foar ol § | T o &1 3{9d SR 8 UHel 4 Yd®
IS &7 3Td SMHR 400 THAT © | 800 1 @ 80 difSal & vsru & forw g 1 Q fora=i 30
afimarge o) 31 eaRasddl sl 2 (1 ddl = 1024 d15¢)

5
5
25

ww»—

R,
LS SV S V]
Pl
W b Lh

o
D

(Option 1 [40621]) 1
(Option 2 [40622]) 2
(Option 3 [40623]) 3
(Option 4 [40624]) 4
Answer Given by Candidate : 3

Sl. No.132
QBID:33201032

In about 1945, who among the following developed the idea of a stored program computer ?

1. John Von Neumann

2. Tim Berners Lee

3. Blaise Pascal

4. N.R. Narayanamurthy
(Option 1 [40625]) 1
(Option 2 [40626]) 2
(Option 3 [40627]) 3
(Option 4 [40628]) 4

ay 1045 & YT, FEfAREd o 9 fen YsiRa UM $ger & [GaR &I fae R faoar o1 2

1. aH

2. fReoedat

3. &Y UTh

4. TF. 3R, ARTIUEfT
(Option 1 [40625]) 1
(Option 2 [40626]) 2
(Option 3 [40627]) 3

(Option 4 [40628]) 4
Answer Given by Candidate : 3

Sl. No.133
QBID:33201033
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Which of the following communication systems provides a means of sharing and collaboration by allowing a
group of people to enter, modify and contribute one or more pages of related text ?

1. Wiki

2. Email

3. Podcast

4. RSS feed
(Option 1 [40629]) 1
(Option 2 [40630]) 2
(Option 3 [40631]) 3
(Option 4 [40632]) 4

Fafarad 3 9 19 d S9R YU sfdadl & U 9 $1 Yeiid U & U a1 $ide gl &l uiap,
ST @ AT XA @1 SHfd S B U T d JePR & WIEH YaH BRI § 2

(Option 1 [40629]) 1
(Option 2 [40630]) 2
(Option 3 [40631]) 3
(Option 4 [40632]) 4
Answer Given by Candidate : 1

Sl. No.134
QBID:33201034

Given below are two statements :
Statement I : EEPROM stands for Electronically Extendable Programmable Read Only Memory.

Statement I : RAM is much faster to write or to read from than other types of memory; but its main drawback
is its non-volatility.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4., Statement I is False but Statement II is true.

(Option 1 [40633]) 1

(Option 2 [40634]) 2

(Option 3 [40635]) 3

(Option 4 [40636]) 4

FUF 1 - SSUNRNTH & QU7 §U & Selacii=idel tgacsad Wadad I35 el #AR |

HYA I - AR &S T YR B IHU&T & (IRTTH) org= 31¥ar uea & @6 IS g eiar &; Weg IR-
FEUANUA SHH TH UHAE FaAl ¢ |

SURITh ®UAT o el H, o v 70 Teul F § el 30X &1 9949 hIiag:

1.y 1 3R 1I 2= a7 ¥

o

.Hha 1 3R It saey B
3.9y 1 99 &, ofha &Y 11 39T ¥
4. B9 1 39T &, Afha Haa 11 9T &1
(Option 1 [40633]) 1

(Option 2 [40634]) 2
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(Option 3 [40635]) 3
(Option 4 [40636]) 4
Answer Given by Candidate : 2

Sl. No.135
QBID:33201035

Which of the following statements about email address spoofing are TRUE ?

A. E-mail address spoofing is copying an email to other staff.

B. E-mail address spoofing is used for hacking

C. E-mail address spoofing is the forgery of an email header or sender information
D. E-mail address spoofing is sending a joke email to other staff.

Choose the correct answer from the options given below :

.Aand B Only
.Band C Only
.C and D Only
Aand D Only
(Option 1 [40637]) 1
(Option 2 [40638]) 2
(Option 3 [40639]) 3
(Option 4 [40640]) 4

S T ST (i 3 & ey & PR A P A e a8

A %mqﬁnmaﬁ%ﬁmﬁ@aaﬁuﬁm
ST T W[ &1 YT AR (31d) & fore fpar sman s |

c éﬁa@wqﬁm@aﬁ&w%maﬁm@%ﬁ%l
SOT Ugd T 370 TS 95| $I Hollfedl Sad Yo 8l & |

A= Bu 717 Awedl & § IR 30 & T DITIg:

1. Haq A SR B
2.$ad B 3R C
3.%ad ¢ IR D
4, PadARD
(Option 1 [40637]) 1
(Option 2 [40638]) 2
(Option 3 [40639]) 3
(Option 4 [40640]) 4
Answer Given by Candidate : 2

Sl. No.136
QBID:33201036

Which of the following are water borne bacterial diseases ?

L S

o

A. Cholera

B. Hepatitis

C. Typhoid

D. Schistosomiasis
E. Dysentery

Choose the most appropriate answer from the options given below :

1. A.Band C Only
2.B. Cand D Only
3.A.Cand E Only
4. A.D and E Only
(Option 1 [40641]) 1
(Option 2 [40642]) 2
(Option 3 [40643]) 3
(Option 4 [40644]) 4
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fafaRad @ 3 D1 Saoi-d siaiuae iHTRar g 2

A.BO

B. RUersfey

C. HEASIR

D. Rre i
E. ORI

A QT aw faeedl # @ Had SUYH IR BT =9I DI

1. HGTA, B AR C
2.%ad B, C 3IRD
3. PAAA, C ARE
4. PTAA,DIRE

(Option 1 [40641]) 1
(Option 2 [40642]) 2
(Option 3 [40643]) 3
(Option 4 [40644]) 4
Answer Given by Candidate : 4

Sl. No.137
QBID:33201037

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Beneath the surface horizons, the subsoil, usually have a lower organic content and higher
concentration of mineral particles.

Reason R : Subsoil is generally made up of weathered rock fragments.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are cotrect and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. Ais correct but R is not correct.
4. A is not correct but R is correct.
(Option 1 [40645]) 1
(Option 2 [40646]) 2
(Option 3 [40647]) 3
(Option 4 [40648]) 4

Fﬁ?ﬂmﬁt’m%ﬂﬁﬁmﬁ(Assertion)AaiFUﬁ%f@H%aTqﬂ'{Tmm(Reason)Ra'?
O H:

P A - Tae (WIdel) TERI & JN, 3UHET A AT fae Tk U P A 3R @ias soi
T STT HhgoT UMl FGT & |

HROT R : 3USST AEATd: HUaTd gce st 4 Afaa adr ¢ |
I FUAT F HAT &, 99 BT 0 TFHedr # U Ted IULE IS & gI9 SNeT |

1.A 3iR R 247 @& & 3R R, A & T8 @z ¥
AR RS o5 € afsa R, A 1 I e 9 ¥
LA g8 Y ofva R 59 a8 ¥

4. A TE TS & oifeha R TET &I
(Option 1 [40645]) 1
(Option 2 [40646]) 2
(Option 3 [40647]) 3

(Option 4 [40648]) 4
Answer Given by Candidate : 1

o

(5]

Sl. No.138
QBID:33201038
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Which one of the following is a secondary aerosol ?

1. Sea salt

2. Mineral particles

3. Black carbon

4. Sulphate particles
(Option 1 [40649]) 1
(Option 2 [40650]) 2
(Option 3 [40651]) 3
(Option 4 [40652]) 4

fafafad 3 9 o o fgdioe o fdaa (RN § 2

1. g1 THS

2. GHS B

3. WP B

4. gebe B
(Option 1 [40649]) 1
(Option 2 [40650]) 2
(Option 3 [40651]) 3

(Option 4 [40652]) 4
Answer Given by Candidate : 2

Sl. No.139
QBID:33201039

Hazardous waste is liquid or solid that contains substances known to be

A. Fatal to humans or animals only at high doses
B. Toxic, carcinogenic or mutagenic to humans
C. Ignitable even at temperatures less than 60°C
D. Non-reactive

E. Corrosive

Choose the most appropriate answer from the options given below :

.A. Cand D Only
.B. C and E Only
.B.Cand D Only
4.C.D and E Only

(Option 1 [40653]) 1
(Option 2 [40654]) 2
(Option 3 [40655]) 3
(Option 4 [40656]) 4

Jepewdt Uy o) a1 319 Bid1 &, foras gaifay venf o fog S 8 9w s e 2

A. $a0 3= GIP A IR AHa SR 31 & fu aras gia § |

B. HFd & AT N, H=uRoHe a1 SARadeH! (e™H®) §1d § |
c. 60 SN TS IR i oA s € |

D. 3HINshariia

E. Y&4R®

A fou 917 famedl # @ I 3UYH IA B AT IS

1. HITA, C IR D
2. $ad B, C IRE
3. %dAB, C 3R D
4.%aAC,DIARE
(Option 1 [40653]) 1
(Option 2 [40654]) 2
(Option 3 [40655]) 3

(Option 4 [40656]) 4
Answer Given by Candidate : 3

L b =
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Sl. No.140
QBID:33201040

An Eutrophic lake

A. is rich in nutrients

B. is poor in organic matters

C. has high algal blooms

D. is rich in dissolved oxygen

E. has no issue with survival of fish and other aqualic life

Choose the most appropriate answer from the options given below :

.A,Band C Only
.C.D and E Only
.Aand C Only
.Band D Only

(Option 1 [40657]) 1
(Option 2 [40658]) 2
(Option 3 [40659]) 3
(Option 4 [40660]) 4

T garyoit =i -

A UG ddl B ggS I e |

B. T 3 Gifigd qqid g1 T |

c. ¥ 3= Qardig IWpeT g g |

D. faei sifefie & Ig< g ¢ |

E. A0l B STRenadl iR 30 Seid Siig- (Uhfed agh) § Sis 9= Tl il |

9 few 71w fasedl A ¥ Ha¥ IUYH IR B °d DIal:
1.PAAA, B AR C

Lo b

N

(Option 1 [40657]) 1
(Option 2 [40658]) 2
(Option 3 [40659]) 3

(Option 4 [40660]) 4
Answer Given by Candidate : 3

Sl. No.141
QBID:33201041

In the context of higher education, National Education Policy 2020 has emphasized the need for

1. Discipline specific regulators
2. Free education
3. Fragmentation
4. Internationalisation
(Option 1 [40661]) 1
(Option 2 [40662]) 2
(Option 3 [40663]) 3
(Option 4 [40664]) 4

3= fRien & sl H, i R i 2020 & Fafafea 3 @ fowe stexgea R s famn g 2

1. fowg folRy Fams

2. e e

3. fagsa

4. SRIFTIBRUI
(Option 1 [40661]) 1
(Option 2 [40662]) 2
(Option 3 [40663]) 3
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(Option 4 [40664]) 4
Answer Given by Candidate : 2

Sl. No.142
QBID:33201042

Which of the following are major characteristics of Good Governance ?

A. Tt is consensus - oriented.
B. It is accountable.

C. It is Opaque.

D. It is inclusive.

E. It is autocratic,

Choose the correct answer from the options given below :

1. A.Band D Only

2. Aand D Only

3.B and E Only

4. B, C and E Only
(Option 1 [40665]) 1
(Option 2 [40666]) 2
(Option 3 [40667]) 3
(Option 4 [40668]) 4

Fafarad I O gemeH @1 o1 9 7 foRvan g 2

A. T8 Ga9HI-3gE g1 § |
B. U8 SIAI64E (STRGRN BT § |
C. U8 IR Bl 8 |

D. U8 GHGR 8T |

E TR FReUEas |

A fgw v Aoedl § O HEl 3O @1 994 hliag:

1.PIA A, B IR D
2. PITAARD
3. %Ja B ARE
4. %9 B, C 3ARE

(Option 1 [40665]) 1
(Option 2 [40666]) 2
(Option 3 [40667]) 3

(Option 4 [40668]) 4
Answer Given by Candidate : 3

Sl. No.143
QBID:33201043

Some important recommendations of the Kothari Commission were :

A. Establishment of clusters of advanced centres in major universities
B. Abolition of the system of affiliate colleges

C. Abolition of continuous evaluation system

D. Establishment of six major universities

E. Improving quality and content of lecturing

Choose the correct answer from the options given below :

1. A.B, C Only
2.B.C.D Only
3.C.D.E Only
4.A. D, E Only
(Option 1 [40669]) 1
(Option 2 [40670]) 2
(Option 3 [40671]) 3
(Option 4 [40672]) 4
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BIBR] ST B $S Hedqul ST o :

A. T [ayfaeedl & 39d go5l (USaRS Hed) S RITTAT
B. &g HelidTaidi &t Yullell &7 S

C. Fdd Hedich- YUl 1 I+

D. 8 YHd fayfaemeal &t a1

E. SR i T[Ural d [qugasg § guR

A fgr v Aoedl § O TR 3O &1 994 hlfag:

1.$Add A, B, C
2. ®dd B, C.D
3. %94 C,D,E
4. HIAA, D, E

(Option 1 [40669]) 1
(Option 2 [40670]) 2
(Option 3 [40671]) 3

(Option 4 [40672]) 4
Answer Given by Candidate : 4

Sl. No.144
QBID:33201044

During the Vedic period, the higher level of education had

. Professional curriculum

. General curriculum

. Specialised curriculum
4. Technical curriculum

(Option 1 [40673]) 1

(Option 2 [40674]) 2

(Option 3 [40675]) 3

(Option 4 [40676]) 4

3P HTa o, IERiy e e o -

1. TGS grea=al IR
2. g 9rea9af |
3. foiierd ureg=al =
4. THID! UTETET] TR
(Option 1 [40673]) 1
(Option 2 [40674]) 2
(Option 3 [40675]) 3
(Option 4 [40676]) 4
Answer Given by Candidate : 3

Sl. No.145
QBID:33201045

Which among the following is/are not a criteria for quality assessment followed by NAAC :

L e

A. Teaching -learning and Evaluation

B. Consultancy and Extension

C. Infrastructure and Learning Resources
D. Recruitment of Teaching Professionals
E. Governance and Leadership

Choose the most appropriate answer from the options given below :

1.D Only
2.A.Band D Only
3.B.C & E Only
4. B Only
(Option 1 [40677]) 1
(Option 2 [40678]) 2
(Option 3 [40679]) 3
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(Option 4 [40680]) 4

AP (NAAC) R TUIGRT & SAThaH &g UG [5a1 o el AFds Fafif@d  dsH @ T

A. TRgfor-siftnms SR geaicA
B. R & 3R TR

C. I U4 ey gaieH
D. Rigror Bl o1 Fgfaa

E. 19 U4 Add

e fqu o fasedl d @ HaR 30D IR B UA DIfoil:

1.$ad D

2. PITA, B AR D

3.%JAB, C IR E

4. Had B
(Option 1 [40677]) 1
(Option 2 [40678]) 2
(Option 3 [40679]) 3
(Option 4 [40680]) 4
Answer Given by Candidate : 3

Sl. No.146
QBID:33201046

Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions,. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

I fow 7w TTeriw 1 ufew 3R Y B IR I |

TR TR R JeHRI & UHTq &1 g Rl 3 smarfad STl &1 Adidd 37 &1 9Rkd fear g | g
fae= 8, sue fausia nura usT § o 9ad 1iv § fiRtae omit § | 9e=h TR Sudiaal (URar) s@
3 TS B AHT 5] PR IG & TN AIHSISH oD Iad 3¢ 30 BRI B 671 IST 3R AHNg
SeIs o9 3% @4 od Y SUae HRIA], 98 3 aHI SHIG 1 91 § | 39 5id YRd & gug fafdl
¥ fIRTGT SR B3 8, 79 Sl 999 § 39 31A1d & 39T Sl |

S SR fa e 3wy srafverd wditd g1 X6t 0l 31 3R 9 <@ € 3909 fageht A am efiedt gt s |
39 Rl B, YR &1 919 Qa1 °iel (S SR o ay 2022-23 T 9 O 3G P 4 Uiad &1 1
T §¢ Tl &, il YR Roid dob & gRT IRURFTA dxid 4 RIS JHS oH aTd ¥R BTG 6 |
HRd @I fbd YR I fdfshar -t 91y 2

TS HHTG dl T8 & [ Thd URe IAIG b Y U DH 4 Ufa=Td a el ol S &1 e fiia favan
WY | foog 1 U5 GURITR® 3 2 9% adqM § SRR &R $1 S{AIYT1 & 91 R 381 & | TeHR
& a1 aul & a1 g9 TR H Y.<, fUed IR axrel § [9Rid o & Faifde garwmiid, Juy bexa Red
& gfeTa & &7l &= 98Tal § digdd 71id, Z3Y H Sl 9 3R FRER aid 9 $ias-10 & Idhe J o
RIFTA AN S e T |

U YBR & A A F, fag=h e, YRd & Ol SHRd 58 SI9RI BT SiUaT JUy ORI §1s ol
FRi&a gRuRal § How ol s <d § |

https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d 116/123



25/03/2023, 10:42 https://test.cbexams.com/ugc/ugcrespp4/UGCCandResponse.aspx?htno=duKXPxwCrwzyqWL58%2fcmsA%3d%3d

Given below are two statements :

Statement I : In the post-pandemic period, demand for goods has picked up both in India and abroad.
Statement II : Covid-19 pandemic is still not over in China.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I is False but Statement II is true.

(Option 1 [40681]) 1
(Option 2 [40682]) 2
(Option 3 [40683]) 3
(Option 4 [40684]) 4

a4 @ e fer aw &

HUF 1 : FEA HI & U9, FRT 3R fager, Q= & awgai & &1 & 3o 3= T |

HUA 11 - HIs-19 Fe Na & aeh off gow a8 g § )
SURITh ®UAT o HTelh H, o fGu 70 &eedl # § T8l 30X &l 994 hifag:

.59 1 3K I &4 57 ¥
2.5 I 3R I @41 3T §1
3.%U9 1 97 &, o &ua 11 36 ¥

4. Y4 1 39T &, Afha &Y 11 §¢7 B
(Option 1 [40681]) 1
(Option 2 [40682]) 2
(Option 3 [40683]) 3
(Option 4 [40684]) 4
Answer Given by Candidate : 4

Sl. No.147
QBID:33201047
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Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions,. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

19 fau Tu TTeriY Bl gl IR Uy BT IR S |

TR TR R HEHRT & 9Td &1 g RUfq 3 smafaa e @t Fdied 1 &1 Uka fFar g 1 fg
fac=n 1, sue fausia yuia gst & o 9ad 9iv § fiRtae 3t § | 9=h SR Suiaal (URar) s@
3@ aEgaH B O e PR IE § T A srs e Ted - 30 BRI H 361 UST 3R ISy
SEIUSP forg 3 T4 oq Y- UG BRI, I8 3@ G| SHIT 81 1 § | HIY Sfd HRd & qud Fafdl
# fiRmae 3RV g% 8, 79 SU! 909 § 39 197 & 38T TR |

S O faafya 7 SraRerd Ueild 1 381 Hal 1 3R a6 36 & a4-a9 [aa=i 7T o el gicht smeeft |
39 fUf 8, YR &1 91 @1t U1eT (JATST) 3R S ay 2022-23 H G O SAIG & 4 Hiad &) AT
T §¢ FHdl 6. Sl YRd1G ReTd db & gRIIRURATA deid 3 "GRIE" G0 S a1 ¥R D1 G |
HRd DI {68 YR  widfehar <=t =gy 2

TP HUIGAT Il T8 & [ Gbd 0 SdIG & B A $H 4 HaRrd o faa=h dolt e &1 siresfiid favan
S | fobeg 71 U5 GRS © 2 fay adq B SR WR &1 ST & 9= 33 1 8 | HeERT
& 3 N & 915 o8 U H -G, USd IR aX@] 1 [qHRid 411 § 9aiioe e, J04 Bexd Reid
& gfaeTy ¥ o7l &= 98Tl H digdd T1id, Z3Y H Sl 9 R FRER e 9§ $ids-10 & e J oz
RATHAS S e |

U YBR F AT areia F, 332 Fawe, YRa & O SHRA 58 SIOIRI B SiUeT JUh PRI ais ol
WRiga uReuREl § Raw sl g s @ |

What level of current account deficit is considered 'safe' by RBI in terms of percentage of GDP ?

(Option 1 [40685]) 1
(Option 2 [40686]) 2
(Option 3 [40687]) 3
(Option 4 [40688]) 4

Tl U SIE B IR & g H, SRS, gRI A TTaT °Ie & (59 WR $I GRI& Tusi ofdl &

2%
.3%
. 4%

4. 5%
(Option 1 [40685]) 1
(Option 2 [40686]) 2
(Option 3 [40687]) 3
(Option 4 [40688]) 4
Answer Given by Candidate : 4

o =

(%]
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Sl. No.148
QBID:33201048 ] .
Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions,. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

I fow 7w TTeriw 1 ufeu 3R Y B IR I |

TR TR R JeHRI & UHTq &1 g Rl 3 smarfad STl &1 Adidd 37 &1 9Rkd fear g | g
fae= 8, sue fausia nura usT § o 9ad 1iv § fiRtae omit § | 9e=h TR Sudiaal (URar) s@
3 TS B AHT 5] PR IG & TN AIHSISH oD Iad 3¢ 30 BRI B 671 IST 3R AHNg
SeIs o9 3% @4 od Y SUae HRIA], 98 3 aHI SHIG 1 91 § | 39 5id YRd & gug fafdl
¥ fIRTGT SR B3 8, 79 Sl 999 § 39 31A1d & 39T Sl |

S SR fa e 3wy srafverd wditd g1 X6t 0l 31 3R 9 <@ € 3909 fageht A am efiedt gt s |
39 Rl B, YR &1 919 Qa1 °iel (S SR o ay 2022-23 T 9 O 3G P 4 Uiad &1 1
T §¢ Tl &, Sl YR Roid dob & gRT IRURFTA dxid 4 RIS JHS o aTd ¥R BTG 6 |
HRd @I fbd YR I fdfshar -t 91y 2

TS HHTG dl T8 & [ Thd URe IAIG b Y U DH 4 Ufa=Td a el ol S &1 e fiia favan
WY | foog 1 U8 GURITR® 3 2 9% adqM T SRR &R $1 S{AIYT1 &1 91 SR 381 & | TeHR
& a1 N & 915 o8 U § Y-GS, Ued IR ax@] 1 [qHRid <11 § 9aiioe Jerpiid, J04 hexd Reid
& gfeTa & &7l &= 98Tal § digdd 71id, Z3Y H Sl 9 3R FRER aid 9 $ias-10 & Idhe J o
RIFTA AN S e |

U YBR & A A F, fag=h e, YRd & Ol SHRd 58 SI9RI BT SiUaT JUy ORI §1s ol
Riga uieuhml § Faw sl amarsa g |

The world is facing unprecedented uncertainly because of

A. war in Europe

B. high levels of inflation in developed countries
C. energy crisis in Europe

D. fast pace of interest hikes in US

E. normalisation after the end of pandemic

Choose the most appropriate answer from the options given below :

1. A.B, Cand D Only
2.B.C.D and E Only
3.A.C.Dand E Only
4. A.B.C.DandE
(Option 1 [40689]) 1
(Option 2 [40690]) 2
(Option 3 [40691]) 3
(Option 4 [40692]) 4
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fay eryayd IfHfETar &1 a1 6 361 § Hif :

A RUT GG IA@ |

B. [dofid 2 # gurwifd o1 3= ¥R
C. XU H Sl ¥he

D. Uy H &41S 3I87d H dig i

E. HeTHRI SIS 814 & Ui 9= Rfd

19 fau Y faseal 5 ¥ 9ad Iugdd SR D1 99 BT

1.$TAA, B, CARD
2.%adB, C, D ARE
3. PIAA, C, D ARE
4.A,B,C,D 3RE
(Option 1 [40689]) 1
(Option 2 [40690]) 2
(Option 3 [40691]) 3
(Option 4 [40692]) 4
Answer Given by Candidate : 3

Sl. No.149
QBID:33201049
Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions,. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

12 fau U Teiw Bl gl 3R Uy BT IR ST |

TR TR R HEMER] & 94T P I RUfd 3 simanfad STl ®1 Tdigd 17 &1 URkd fear g | g
fae= 1, sue1 fausid yura Ust § o gad 4iv § fiRTae 3t 3 | 9a=i sRe-Suiaal (URar) s@
3T TEGSH P IR TE TR IR & FIb AH SIS fordds Terd 3= 30 BRI H 3571 UST 3R ASH IS
TEIUs o 3 @4 oq U ST BRI, I8 3@ G| IHIW 81 T § | SHIY 5id YRd & 9vg gt
¥ fiRTge 3RH §S 3, 79 341 997 & 39 T & I81q TS |

O oY fawfa S erafverd udia g1 6! 5t 3t 3R 93 38 § 99-a9 fae<h o am et et st |
39 RUf 8, YR &1 91 @1t U1eT (TS 3R S ay 2022-23 H G U1 SATG & 4 Hiad &) A
T% §¢ 9odl &, 5l YRdTG Reid 9% & gRIIRURATG deid 9 RIS G0 o a7 TR BTG ¢ |
YR P! g UHR I ufafshar St afgu 2

TS UG 1 T8 & b Tt IR SIE & BH 9 T 4 Wiawrd aa Gt dolt smmm &1 srefifa fvan
W | fopeg T O TUdIR® 2 fay adHE J SRR TR 31 ST o 9EA 3R 381 € | 7R
% 3l N & 915 o8 U § -G, Ued IR axe] § [qHRid a1 § 9aiiie Jarpiid, g04 Bexd Reid
& g § oa7el &R 9ordl J digad 71fd, Z39 § FHell G 3R MR dlie 9 $ifds-10 & Fdhe 4 g
RIFFA{ SR T |

U ISR & [T AR 1, faexh Fave, YR $ o SR 50 TNIRI 31 S{Ua JUd PR a1s ol
WRiga gREuREl § Feu Sl skigdi & g |
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Given below are two statements :

Statement I : In an uncertain environment, foreign invertors like to invest in emerging markets like India.
Statement II : According to the author, the current account deficit is likely to increase even further in 2022-23.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.

3. Statement I is true but Statement II is false.

4, Statement I is False but Statement II is true.

(Option 1 [40693]) 1
(Option 2 [40694]) 2
(Option 3 [40695]) 3
(Option 4 [40696]) 4

a2 pua few aw #:

U= 1 : T FART aareer #, gl Fhus aRg S 3R g3 ae & By avar ohe R ©

HUF 11 : oGH & IFFAR, @ q¥ 2022-23 T dTe], GiAT G1el & & A Hr GHEAT § |
SR @UAT b 3Telh A, A" GT 7T fdhedl # & T I &1 984 Hifag:

.39 1 3K I @4 57 ¥
2.9 I 3R I @41 3T §1
3.%U9 1 97 &, afha &ua 11 36 ¥

4. %¥49 1 30T ¥, AfhaT Y9 I T ¥
(Option 1 [40693]) 1
(Option 2 [40694]) 2
(Option 3 [40695]) 3
(Option 4 [40696]) 4
Answer Given by Candidate : 3

Sl. No.150
QBID:33201050
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Read the paragraph given below and answer the question.

At home the post-pandemic normalisation has spurred a renewed demand for imported inputs. But abroad, it
has had the opposite effect, leading to a decline in demand. Foreign house holds are no longer demanding so
many goods now that the lockdowns that kept them in their houses and the fiscal stimuli that gave them the
money to spend have both ended. So, India's imports have soared just at a time when its merchandise exports
have started to fall.

Foreign demand will slow further as advanced countries slip into what now seem like inevitable recessions,. In
that case, India's Current Account Deficit (CAD) could widen even further, possibly to four percent of GDP in
2022-23 - double the level that the Reserve Bank of India (RBI) traditionally regards as "safe". How should
India respond ?

One possibility would be to attract foreign capital inflows worth at least four percent of GDP. But is this
realistic ? The world is currently facing unprecedented levels of uncertainty. After two years of the pandemic,
we are witnessing a land war in Europe, the highest inflation in the developed world in the last four decades,
the fastest pace of interest rate hikes in the history of the US Federal Reserve, an energy crisis in Europe, and
slowdown in China that continues to struggle with Covid-19.

In such an uncertain environment, foreign investors prefer to invest in safe assets such as US government
bonds rather than emerging markets like India.

19 fau Tu TTeriY Bl gl IR Uy BT IR S |

TR TR R HEHRT & 9Td &1 g RUfq 3 smafaa e @t Fdied 1 &1 Uka fFar g 1 fg
fac=n 1, sue fausia yuia gst & o 9ad 9iv § fiRtae 3t § | 9=h SR Suiaal (URar) s@
3@ aEgaH B O e PR IE § T A srs e Ted - 30 BRI H 361 UST 3R ISy
SEIUSP forg 3 T4 oq Y- UG BRI, I8 3@ G| SHIT 81 1 § | HIY Sfd HRd & qud Fafdl
# fiRmae 3RV g% 8, 79 SU! 909 § 39 197 & 38T TR |

S O faafya 7 SraRerd Ueild 1 381 Hal 1 3R a6 36 & a4-a9 [aa=i 7T o el gicht smeeft |
39 fUf 8, YR &1 91 @1t U1eT (JATST) 3R S ay 2022-23 H G O SAIG & 4 Hiad &) AT
T §¢ FHdl 6. Sl YRd1G ReTd db & gRIIRURATA deid 3 "GRIE" G0 S a1 ¥R D1 G |
HRd DI {68 YR  widfehar <=t =gy 2

TP HUIGAT Il T8 & [ Gbd 0 SdIG & B A $H 4 HaRrd o faa=h dolt e &1 siresfiid favan
S | fobeg 71 U5 GRS © 2 fay adq B SR WR &1 ST & 9= 33 1 8 | HeERT
& 3 N & 915 o8 U H -G, USd IR aX@] 1 [qHRid 411 § 9aiioe e, J04 Bexd Reid
& gfaeTy ¥ o7l &= 98Tl H digdd T1id, Z3Y H Sl 9 R FRER e 9§ $ids-10 & e J oz
RATHAS S e |

U YBR F AT areia F, 332 Fawe, YRa & O SHRA 58 SIOIRI B SiUeT JUh PRI ais ol
IR ofeuRm 8 How @l a¥ar Sa € |

Current account deficit in India is increasing because of

A. Rise in India's imports

B. Rise in India's exports

C. Increase in foreign capital inflows
D. Fall in India's exports

Choose the most appropriate answer from the options given below :

1. A and B Only
2.B and C Only
3. Aand D Only
4. C and D Only
(Option 1 [40697]) 1
(Option 2 [40698]) 2
(Option 3 [40699]) 3
(Option 4 [40700]) 4
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YRA H 91 @1 91e 3§ g fg SRUBIRE! 8 2

A. HRd & {1 H gis
B. YRd & Hafa d afs
c. fac=i deit 3w H g
D. YRd & [aid § fiRrae

e fqu aw fawedl d @ HaW 30D ITR B TA Dol

1. Had A 3R B
2. $aAB AR C
3. Pad A ARD
4. PaACARD

(Option 1 [40697]) 1
(Option 2 [40698]) 2
(Option 3 [40699]) 3
(Option 4 [40700]) 4
Answer Given by Candidate : 2
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33201005 40520 117005 40719 117059 40934
33201006 40522 117006 40721 117060 40940
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33201019 40576 117019 40776 117073 40990
33201020 40577 117020 40777 117074 40995
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33201022 40585 117022 40786 117076 41001
33201023 40589 117023 40791 117077 41006
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33201033 40629 117033 40831 117087 41046
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33201044 40675 117044 40874 117098 41089
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33201046 40684 117046 40884 117100 41098
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33201050 40699 117050 40897

117051 40904

117052 40907

117053 40912

117054 40913
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